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GUJARAT TECHNOLOGICAL UNIVERSITY
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Date: 29/12/2010 Time: 10.30 am - 01.00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
(@) Explain different methods for representation of weave with figure.
(b) Draw Design, Draft and peg plan for the plain weave on 04 shafts.
(@) Explain methods of ornamentation of plain weave.
(b)  Draw Design, Draft and peg plan for the following.
(1) plain weave 10X10 (2) Twill weave 8X8
OR
(b)  Draw Design, Draft and peg plan for the following.
(1) regular warp rib weave  (2) warp face twill weave
(a) Explain influence of twist direction of yarn on appearance of twill line.
(b)  Draw Design, Draft and peg plan for the following.
(1) Irregular sateen (2) Horizontal pointed twill
OR
(@) Define resultant count.
(b)  Draw Design, Draft and peg plan for the following.
(1) sateen weave (2) mock-leno (3) satin weave on 8 shafts
(a) State the derivatives of plain weave.
(b)  Draw Design, Draft and peg plan for the following.
(1) broken twill (2) Devon Huck-a-back
OR
(@) State the features of twill and sateen weave.
(b)  Draw Design, Draft and peg plan for the following.
(1) Honey comb weave (2) Crepe weave (any one method)
(@)  Draw Design, Draft and peg plan for Diaper Weave.
(b)  Draw Design, Draft and peg plan for the following.
(1) warp cork screw weave 9X9 (2) Diamond weave
OR
(@) Draw only design.
(1) warp distorted weave (2) Extra warp figuring weave
(b) Calculate weight of warp from the following particulars.

Subject code: 332903
Subject Name: FABRIC STRUCTURE-I

(1) Length of cloth :100 meter
(2) Contraction of warp : 5 %
(3) Ends/cm : 20

(4) Width of cloth : 1 meter
(5) Count of warp : 40 Nm
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